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1. A USB hub has been modelled by a CAD technician.

A 3D CAD model of the USB hub and its preliminary sketch are shown above.
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1. (continued) N
(@) Describe, with reference to 2D drawing techniques, how you would
create a tangent between the R30 and the R35 arcs. You may write your
answer and/or sketch in the preliminary sketch on the previous page to
support your answer if you prefer. 5
The USB adaptor has five ports around the upper arc. The CAD technician
created a 2D drawing using the information on the preliminary sketch. When
drawing the ports, port A was used as the starting point.
(b) Describe, with reference to 2D CAD drawing techniques, how the CAD
technician would draw the other ports. You may write your answer
and/or sketch in the preliminary sketch above to support your answer if
you prefer. 4
(c) The USB hub is symmetrical about the vertical centre axis.
State angle X. 1
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Threaded bolt

A threaded bolt is shown above.

Apply the following to the elevation below, taking account of British
Standards conventions:

(a) The lines to indicate a thread, at the correct location.

(b) The four dimensions shown on the pictorial view, at their correct
locations.

(c) The symbol to indicate the flat surface, at the correct location.

Diameter 33 \

Diameter 23

Flat Surface

Overall length 50

Pictorial view

Elevation
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3.

Infographics are a popular way of presenting statistical information.

ONE MILLION

were victims

THETRUTH ABOUT

CYBERBULLYING
. 1in6

e ‘I O(y KNOW THEIR CHILD HAS BEEN BULLIED
=

= VIA A SOCIAL NETWORKING SITE.
3 0

OF

e © e O e o
CYBERBULLIED KIDS
REPORT THE ABUSE TO
HIS OR HER PARENTS.
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T
T
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(a) Explain how the design of the above infographic has been influenced by
choice of images, colour and typeface, in attempting to communicate

the information.
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| MARKS 2511
(continued) N
The silhouette of the child at the top of the infographic was electronically
captured and inserted into the DTP document.

(b) Describe how a hard copy image could be captured and inserted into a
2

DTP document, making reference to file type.

The graphic designer decided to make digital copies rather than hard copies
of the infographic.

(c) Describe the advantages of this decision.
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Page six




For this question, you must refer to the magazine layout shown in the
supplement at the end of this Exemplar Question Paper.

(a) State two instances where the graphic designer has created depth to
add interest in the magazine layout.

(b) State an example of emphasis in the layout and explain the effect
created.

The graphic designer has made use of value in the magazine layout.

(c) State where value has been used in the layout and explain the effect it
has.

(d) Describe how the graphic designer has created an informal and
interesting look to the magazine layout.

*EP22HO0O1077
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4. (continued) N
(e) State where rhythm has been used in the magazine layout. 1
Throughout the magazine layout, the graphic designer has made use of
varied proportion.
(f) Explain what effect the use of varied proportion has on the magazine
layout. 2
I— *EP22H0108* —I

Page eight




MARKS

CAD Tilustration of |
assembled tap

Tap Body Sketch
All sizes in mm
Not to scale

_— 1 Pictorial Sketch
a5 Plan
o
—k
Elevation : End Elevation

Preliminary sketches of a tap body and an assembled 3D CAD model of the
tap are shown above.

(a) Describe, with reference to 3D CAD modelling techniques, how the tap
body can be modelled. You should make references to the dimensions

shown above. 3

*EP22H0109”7

Page nine

DO NOT

WRITE IN
THIS
MARGIN




-

5.

(continued)

Profile for

Elevation 3D CAD model

Preliminary sketches of the neck of the tap are shown above.
(b) Describe, with reference to 3D CAD modelling techniques, how the neck

of the tap can be created and hollowed to allow water to flow through
it.

*EP22HO01107
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(continued)

o
Neek component
Contral |
Slot 10mm c;; 4%/

Fig 1

A partially assembled 3D model of the tap is shown in Fig 1 above.

o

Fig 2

The tap components shown in Fig 2 above were created using a “bottom up”
approach.

(c) Describe “bottom-up” CAD modelling.

*EP22HO0111”7

Page eleven

MARKS

DO NOT

WRITE IN
THIS
MARGIN




(continued)

(d) (i) Describe, with reference to constraints, how the neck and body
components of the tap will be assembled.

(i1) Describe, with reference to constraints, how the control lever and
body components of the tap will be assembled.
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6. Graphic design is often used to provoke an emotional response. “Save the e
Children” ran a campaign in 2006 using the graphic below.

arm the children
with guns

aim to arm them
with knowledge

help us increase

Save the Children { schooling and
reduce the fighting

Explain how the various elements of the graphic have been used to achieve
maximum impact. 4
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A thumbnail graphic is shown above.
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Thumbnails are used extensively by graphic designers to explore and develop

ideas.

(a) State two reasons why thumbnails are not appropriate to communicate
ideas with a client.
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(continued)

The graphic designer decided to make use of stock photographs, such as that
shown above, for the publication. These were purchased online.

(b) Describe one advantage and one disadvantage of using stock
photographs.
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7. (continued)
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“Drop caps” have been applied at the beginning of the body text on each

page of the draft layout shown above.

(c) Describe a problem that the reader may experience with this approach.

(d) Explain the issue the graphic designer could face when adding reverse

text upon a greyscale image.
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7. (continued) WARCIN
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Part of the layout is shown above.

(e) Describe, with reference to the part layout, how the graphic designer
has made use of the following terms.

(i) Justification 1
(i) Alignment 1
(iii) Gutter 1
(iv) Transparency 1
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Elevation

A 3D CAD model and elevation of a bracket are shown above.

The location pins, each @30 mm, are set apart at 300 mm nominal centres.
There are tolerances on both the sizes and location of the pins.

(a) Calculate the maximum and minimum gap between the pins. 2

Maximum

Minimum

(b) Explain why tolerances are an important feature in production drawings
for manufacturing. 2
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Exploded model

An exploded model of a mechanical device is shown above.

I— *EP22HO0119”7 _I

Page nineteen




-

9.

(continued)

Apply hatching to section A-A on the drawing of the device, taking account
of British Standards conventions. You should not section any component
parts labelled A-F on the exploded 3D model shown opposite.

iy
T T9TH

PLAN

1]

SECTION A-A

[END OF EXEMPLAR PAPER]
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Supplement — Question 4
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